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 88سؤالات آزمون سراسري  
  

  تخصصي و عمومي زبان
  

PART A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then mark the 
correct choice on your answer sheet. 

1- The rise in unemployment was just a further ……… of the government's incompetence.  

1) inclination  2) approximation  3) modification  4) manifestation 

 2- The country's most valuable agricultural ……… include wheat and rice.  

1) revenues  2) attributes  3) proportions 4) commodities  

 3- These changes are a (an) ……… to wide – ranging reforms.  

1) prelude  2) allocation  3) schedule  4) implication  

 4- Honesty is a very attractive character ……… .  

1) trait  2) prospect  3) conviction  4) outcome  

 5- The driver was found guilty on ……… the speed limit.  

1) pursuing  2) enhancing  3) exceeding  4) surpassing  

 6- The members of the committee will be ……… on October 25.  

1) restoring  2) locating  3) convening  4) accompanying  

 7- The region needs housing which is strong enough to ……… severe wind and storms.   

1) object  2) recline  3) diminish  4) withstand  

 8- Two decades ……… between the completion of the design and the operation of the dam.   

1) overlapped  2) intervened  3) transferred  4) overwhelmed 

 9- The ……… goal of this research is to gather data on the process of first language acquisition.  

1) principal  2) successive  3) continual  4) insightful  

10- Flexibility is ……… to creative management.  

1) intrinsic  2) compatible  3) forthcoming  4) contemporary  

Part B: Grammar  
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then 
mark the correct choice on your answer sheet.   

The computer evolved from mechanical calculation machines that could do arithmetic by having cogs and levers 
that turned and moved  …… (11) …… numbers. The first one was built by the French inventor Blaise Pascal in 
1642. Pascal's calculating machine was improved over the next 200 years, and in 1833 the British mathematician 
Charles Baddage designed a machine …… (12) …… be "programmed" to carry out different mathematical 
operations. This machine was called the Analytical Engine. It …… (13) …… to have the mechanical equivalent of 
the input, processing, memory, and output units found in today's electronic computers. 
Over a hundred years …… (14) ……, in 1994, a mechanical computer, powered by electricity, was completed in 
the United States on Baddage's principle. ……  (15) ……, in the previous year, the first electronic computer had 
been built in Britain. It was called Colossus and was used to crack enemy codes during World War II.  

4) from representing  3) for representing  2) to represent  11- 1) representing 

4) where it could  3) where it can 2) that could  12  1) which can  
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4) was the meaning  3) had the meaning  2) was meant  13  1) meant  

4) following  3) later  2) next  14  1) subsequent  

4) Afterwards  3) However  2) Therefore  15  1) Since then  
  

Part C: Reading comprehension  
Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4). Then mark it on 
your answer sheet.  

Passage 1 
Mining and its Impact on the Environment  
An Environmental impact may be defined as a change in the enviromental parameters, over a specified period, and 
in a specified geographical area, resulting from a particular activity compared to the situation which would have 
existed when the activity had not been performed. In some countries over a number of past years, and especially in 
highly vegetated areas, a great deal of environmental damage was created by some mining companies by 
indiscriminately clearing trees, disturbing the land surface and emitting corrosive gases from smelter stacks. It is no 
longer possible for a mine  to be started merely because its technoeconomic viability has been demonstrated.  
Many deposits provide challenges in resource estimation that not only include the quantity of minable minerals in a 
deposit but also the amount and location of materials that might have implications for environmental impact during 
development, operation, closure and post closure / remediation.  
Nevertheless, many mining companies in several countries have always taken pride in maintaining pleasant 
environmental conditions around mining sites, even in desert areas as a measure of mine community planning even 
at considerable  expense, such practices should be encouraged.  
The magnitude of the environmental impact is function of the volume of the material mined, methods of mining, 
mode of disposal of wastes, environmental protection measures undertaken, etc. Mining industry has a 
characteristic, which is not shared by other industries. For instance, mining has to be undertaken where the ore 
occurs – direct relocation is not possible.  

 16- An environmental impact is:  

1) A critical outburst  
2) A geographical area 
3) An environmental factor over  a specified period  
4) Influence which a project may have on the environment  

 17- Which answer is correct? 

1) Characteristic of Mining industry is not shared with other industries.  
2) The  responsibility of the mining company is confined to the mine site.  
3) Mining has to be undertaken where the ore smelts- direct relocation is not possible.  
4) A few mining companies have always taken pride in maintaining pleasant environmental conditions around 
mining sites  

 18- “Stack” means:  

1) surface  2) pile 3) deposit  4) vegetate  

 19- Which one of the answers has not effect on magnitude of the environmental impacts?  

1) miner salary  2) methods of mining 
3) mode of disposal of wastes 4) volume  of the material 

 20- Which answer is not correct?  

Some materials in a deposit might have implications for environmental impact during ………….. .  
1) operation  2) development  3) feasibility studies  4) shutting down  
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Passage 2 
Pipe jacking 
I) Pipe jacking, generally referred to in the smaller diameters as microtunneling, is a technique for installing 
underground pipelines, ducts and culverts. Powerful hydraulic jacks are used to push specially designed pipes 
through the ground behind a shield at the same time as excavation is taking place within the shield. The method  
provides a flexible, structural, watertight, finished pipeline as the tunnel is excavated.  
II) Pipe jacking is an inherently safer method of working than open trench construction or traditional segmental 
tunneling. When considering the risks associated with deep, large section, open excavations, Health and safety 
Executive guidance suggests these risks should be reduced: “if appropriate using ‘trenchless’ technology to avoid 
the need to excavate the trench in the first place”.  
Given gang size differences between the techniques and the resulting reduction in man-hours, opportunities for 
accidents to occur are less with pipe jacking. There is also significant reduction in the risk of injury as a result of 
utility strikes and interface with the public. There are  substantial environmental benefits to be gained by the use of 
pipe jacking techniques when compared with the traditional open trench approach. Typically the ‘trenchless’ 
method will reduce the quantities of incoming and outgoing materials. This in turn leads to reduced vehicle 
movements and subsequently less associated disruption.  

 21- The pipe jacking is a kind of:  

1) Drilling rigs   2) Open trenching techniques 
3) Microtunnelling methods  4) Tunnel Boring machine (TBM) 

 22- By apporopriate using “Trenchless technology”: 

1) Vehicle movement will be reduced.  
2) Opportunities for accidents to occur are increased.  
3) The risk associated with deep should be increased.  
4) There is not significant reduction in the risk of public injury.  

 23-Which statement is correct?   

1) pipelines always install by pipe jacking method.  
2) Traditional segmental tunneling is a safer method than pipe jacking.  
3) Pipe jacking technique have been subject to limited researches.  
4) The quantities of input and output materials will be reduced by the trenchless method.  

 24- According to paragraph (II) “inherently” means?  

1) Externally  2) Naturally  3) Acquired  4) Incidently  

 25- In pipe jacking operation the pipe is ………from the entry and pushed behind the shield.  

1) withdraw  2) take out  3) inserted  4) Culvert  

Passage 3 
Prospecting 
Prospecting, the first stage is the search for metallic ores or other valuable minerals (coal or non metallic). Because 
mineral deposits are found at or beneath the surface of the earth, both direct and indirect techniques are employed, 
although geology is the basic science of all prospecting. The direct method of discovery, normally limited to 
surface deposits, consists of visual examination of either the exposure (outcrop) of the deposit or of the loose 
fragments (float) that have weathered away from the outcrop. Geologic studies of an areas augment this simple, 
direct technique. By means of aerial photography and with topographic and structural maps of a region, the 
geologist gathers further evidence by direct methods to locate areas of ore deposition. Precise mapping of rock 
formations and their peculiar structures in the field, supplemented by analytic and microscopic studies of samples 
in the laboratory and aided by geologic inference, can enable the geologist to locate hidden as well as surface ore 
bodies. A valuable scientific tool being employed in the indirect search for or exploration of hidden ore bodies is 
geophysics, a method that detects anomalies caused by the presence of mineral deposits through the analysis of 
gravitational, seismic ,magnetic, electrical, electromagnetic, and radiometric measurements. It is suitable for 
airborne, surface, and subsurface and subsurface use. Three methods lend themselves to simultaneous application 
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from aircraft: Magnetic, electromagnetic, and radiometric. Geophysics applied from the air or space through remote 
sensing enables vast areas to be prospected and explored.   

 26- The basic science of prospecting is:  

1) Geology  2) Geophysics 3) Direct method  4) Indirect method  

 27-“Out crop” is a:   

1) Spring  
2) Rain and surface water  
3) Visual examination of the exposure of the deposit  
4) Part of geologic formation that appears at the surface of earth.  

 28- According to the text:  

 “The  geologist gathers more evidence to locate areas of ore deposition by:” 
1) Magnetic  2) Radiometric  3) Aerial photography  4) Electromagnetic  

 29- The geologist can enabled to locate hidden ore bodies by:   
1) Visual examination   2) Exposure of the deposit 
3) Weathered away from the outcrop  4) Analytic and microscopic studies of samples   

 30- “Airborne” means:  

1) Remote sensing   2) Carried by air 
3) Application from aircraft 4) Geophysics applied from the air 
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 36 يك، مقدار بردار مماس بر منحني فصل مشترك صفحهكدامـx y z   xو كره  6 y z  2 2 2     دهد؟را نشان مي 14
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 37 تابعـz xy y x  2 212 xمفروض است. اگر داشته باشيم 3 y      ، ماكزيمم اين تابع چقدر است؟16
1( 1 8  2( 4 5  3( 528  4( 652  
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 48 يمتغيرهـاي تصـادف  فـرض كنيـد   ـ X  وY   اخـت در فاصـله   هـر دو داراي توزيـع يكنو( , و مسـتقل از هـم باشـند. اگـر تعريـف كنـيم        1(
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 49 ي تصادفتابع احتمال متغير ـX  به صورتX Xf (x ) f (x) , x , , , ...
x

  

11 1 21   تعريف شده است. مقدارxf ( ) كدام است؟   

1 (e  2 (e2  3 (e 1  4 (e1  
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X,Y
k x y

f (x, y)
   


2 2   ؟ كدام است kباشد، مقدار  1

1 (1
2  2 (


1  3 (

2  4 (1  

  دروس اصلي مهندسي (استاتيك، مقاومت مصالح، مكانيك سيالات)
  

 51 مماس استـ ممان اينرسي سطح يك دايره حول محوري كه بر آن، m       باشد. شعاع دايره چند متر است؟مي 42
1 (/ 5  2 (1  3 (2  4 (4  

 52ـ محورx گذرد و گشتاور اول سطح هاشورخورده حول آنان داده شده مياز مركز سطح مستطيل نشm316  مساحت مستطيل چند باشد.مي 
    متر مربع است؟
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3 ( 1  
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 53گاه متر چقدر است و در فاصله چند متري از تكيه بر ـ حداكثر گشتاور خمشي در تير نشان داده شده برحسب كيلونيوتنA قرار دارد؟      

  1و  2) 1
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  2و  4) 3
  2و  8) 4
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 54نيرويي وجود دارد؟رـ در خرپاي نشان داده شده، چند عضو صف      

1 (2  
2( 4  
3 (6  
4 (12  

 20 ton

  
 553تمام زوايا  ،ـ در خرپاي نشان داده شده در شكل،6  ،9 يا12 درجه هستند. نيروي داخلي عضوCH چند كيلونيوتن است؟      
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 56نيوتن و زاويه 6اند. اگر وزن حلقهدار به حالت تعادل قرار گرفتهكننده آن بر روي سطح شيبتعادلـ حلقه و قطعه سرب م 9برابر با  درجه
5دايره كننده بايد چند نيوتن باشد؟ (شعاعباشد، وزن قطعه متعادل  متر است)سانتي.     

1 (6  
2 (8  
3 (1  
4 (12  

 

30
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

  
 57ـ نيروي واكنش در نقطهBت؟ (اصطكاك صفر فرض شود و، برابر كدام اسW باشد)هم وزن ميله مي.      
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B  
 581متر و قطر 5طولي فولادي به ـ اگر ميله تحت بار قائم زيرمتر مطابق شكل سانتيkN1  قرار گيرد، در صورتي كـهZ GPa 2    ،باشـد

متر است؟ (فرض كنيدحداكثر خيز در انتهاي آزاد ميله چند ميلي  3(      
1 (/8 2  
2 (/16 5  
3 (33  
4 (/44 5  
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 59اي به قطرـ استوانهmm12  تحت فشار  kPa13   قرار گرفته است. در صورتي كه نخواهيم تـنش مـاكزيمم ازMPa18    ،تجـاوز نمايـد
      چقدر است؟ mmاي برحسبضخامت مناسب براي جداره اين مخزن استوانه

1 (3  2 (/3 58  3 (4  4 (/4 33  

 60هاي اصلي برحسب مگاپاسكال چقدر است؟قرار گرفته است، مقادير تنش ،هاي نشان داده شده در شكلـ المان مسطحي تحت اثر تنش     
1 ( 1  و2  
2 (9  و1  
3 (4 و4  
4 (7  و1  
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 61 داراي سطح مقطعدهنده خرپا مفروض است. كليه اعضاي تشكيل زيرـ يك خرپا مطابق شكل mm21     و از جنس فولاد بـا ضـريب ارتجـاعي
N

E
mm

  5
22 1 باشند. تغيير مكان افقي مفصل ميC متر چقدر است؟برحسب ميلي      

1 (/3 25  
2 (5  
3 (/7 5  
4( 1  

 



4545

2m

B

100kN

A C

  
 62ر به قطر5ـ يك استوانه توپ  9متر و طولميلي  1متر تحت اثر نيروي كششي ميلي  ه طـول  كيلونيوتن قرار دارد. قسمتي از اين استوانه ب
L2 از جنس فولاد و قسمتي از جنس آلومينيم و به طولL1 باشد. طولميL1 متر چقـدر  طوري كه افزايش طول دو مصالح يكسان باشد، برحسب ميلي

sEاست؟ (   52 1  وAlE /  57 1  باشد)مگاپاسكال مي.      
1 (234  2 (245   ALSteel 100kN100 kN

2L 1L  3 (25  4 (252  
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 63ر آلومينيـ طول يك ميله استوانهمي به قطر واي توپd باشد تا بدون اينكه تنش برشي در آن از چقدر بايدmax     بيشتر گـردد بتوانـد يـك دور
    .در نظر بگيريد) Jو لنگر ماند قطبي ميله را  Gكامل دوران كند؟ (مدول برشي را 

1 (maxG

d

   2 (
max

Gd

J




2  3 (
max

Gd


  4 (
max

GJ

d




  

 64 يافته با رابطهتوسعه توزيع سرعت داخل لوله در ناحيه كاملاًـa r
u

R

 
     

2
فاصـله شـعاعي از    rعددي ثابت،  aشده است كه در آن داده  214

     ديواره لوله باشد، توزيع تنش در مقطع لوله كدام است؟تنش در  باشد. اگرشعاع داخلي لوله مي Rمحور لوله و 

1( r

R   2(    3( r

R
    
 
1  4( r

R 
2  

 65 توزيع سرعت با رابطهـ ˆ ˆv i yj      دام است؟ داده شده است، نوع جريان ك 2
  ناپذيرعدي و تراكمدوب )4  پذيرعدي و تراكمدوب )2  پذيرعدي و تراكمبيك )3  ناپذير عدي و تراكمبيك )1
 66 2و  1يك صفحه مستطيلي قائم طوري در آب قرار داده شده كه لبه بالايي آن بر سطح آب منطبق است. اگر اين صفحه را به دو مسـتطيل مسـاوي   ـ 

Fنشان دهيم، نسبت F2وF1كند با ها وارد ميو نيروهايي را كه آب بر آن تقسيم كنيم

F
1
2

     چقدر است؟ 

1( 1
4  2( 1

3     
  1 

  2   
3( 1

2  4( 1    

 67 جت آب با سرعت مطلقـv كند كه خود با سرعت ثابتاي برخورد ميمطابق شكل به پرهu كند. بـا تغييـر زاويـه   به طرف راست حركت مي 
6از  به12شود؟، نيروي افقي وارد بر پره چند برابر مي    

1( 1  
2( 2  
3( 3  
4( 4  

θ

v

u

  
 68 ر كرده است، به اتمسفر تخليه مي، آب كه تمام مقطع لولهزيرـ در شكلدانيم كهشود. ميي قطور را پD / d 1 نظـر كـردن از   . با صـرف است 5

gي باريك برحسبكليه تلفات، فشار دو لوله H تقريباً چقدر است؟      
1 (1  
2 (2  
3 (3  
4 (4  

 

?

d D

H

  
 69 ها، افت هد اصطكاكي با ............. نسبت مستقيم و با .................. نسبت معكوس دارد. در جريان آرام كاملاً فراگير در لولهـ  

  سرعت ـ قطر  )4  مجذور سرعت ـ مجذور قطر  )3  مجذور سرعت ـ قطر )2  سرعت ـ مجذور قطر  )1
 70 دبي ،بسته است 2باز و شير  1شير  ، وقتيزيريكنواخت شكل  در لولهـQ1  دبـي  ،بـاز اسـت   2بسته و شير  1و وقتي شيرQ2    جريـان دارد. بـا

Qپوشي از تلفات موضعي و با فرض ثابت ماندن ضريب اصطكاك، نسبتچشم

Q
2
1

    چقدر است؟ 

1( 1
2  

2( 1  

3( 2  

4( 2  

H

2 1  
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  شناسي اقتصادي)شناسي ساختماني، زمينشناسي، زمينشناسي، سنگشناسي (كانيدروس اصلي زمين  

 71 كدام عبارت در مورد ساختار شبكه الماس و گرافيت صحيح است؟ ـ  
  شبكه هر دو آمورف است.  باشند و) الماس و گرافيت داراي تركيب زغال مي1
  باشند و شبكه الماس مكعبي و گرافيت هگزاگونال است. ) الماس و گرافيت داراي تركيب كربن مي2
  باشند و شبكه هر دو مكعبي است. ) الماس و گرافيت داراي تركيب كربن مي3
  ) الماس و گرافيت داراي كربن آزاد و شبكه هر دو تتراگونال است. 4

 72 باشد؟ها ميانيزير متعلق به كدام رده از ك تعريفـ  
  »فاقد اكسيژن ـ داراي جلاي فلزي و كدر ـ قدرت هدايت حرارتي و الكتريكي زياد ـ توان انعكاس نور«

  ها و عناصر آزاد فلزي  كربنات) 4  سولفيدها و عناصر آزاد فلزي  ) 3  ها ها و كربناتسيليكات) 2  اكسيدها و سولفيدها ) 1

 73 هايي از نظر خواص دارند؟ ند و چه تفاوتافلوئوريت و سيلويت كدام هايركيبتـ  
دارد. شـفاف اسـت و    4سـختي   شود، بلورهاي آن داراي فرم مكعبي و يا اكتائـدري اسـت،  ميدر سيستم مكعبي متبلور  CaF2 ،) تركيب فلوئوريت1

  اي دارد. ، جلاي شيشه5/1ـ2شود. بلورهاي آن فرم مكعبي و سختي سيستم مكعبي متبلور ميو در  KCl باي دارد. سيلويت تركيجلاي شيشه
اي شود، شـفاف، جـلاي شيشـه   و در سيستم هگزاگونال متبلور مي 2، فلوئوريت داراي سختي MgCl2تركيب  ،و سيلويت NaFتركيب فلوئوريت ) 2

  دارد.  2اي و سختي حدود شود، شفاف، جلاي شيشهمتبلور مي تورومبيكاوردارد. سيلويت در سيستم 
Naفلوئوريت تركيب ) 3 AlF3 KCl.MgCl، سيلويت تركيب 6 . H O2 شـود، فـرم بلـوري    دارد. فلوئوريـت در سيسـتم هگزاگونـال متبلـور مـي      26

   دارد. ايدارد و جلاي شيشه 2بيك، سختي مورتوروتم اسدارد. سيلويت در سي 4منشوري، سختي 
 NaClدارد. سـيلويت بـه فرمـول     2اي دارد، شفاف است و سختي شود، جلاي شيشهمبيك متبلور ميورتورودر سيستم ا CaF2فلوئوريت تركيب ) 4

  رد. دا 2اي، فرم بلوري مكعبي و سختي شود، جلاي شيشهدر سيستم مكعبي متبلور مي

 74 باشند؟ يدريت، سلستيت كدام مياريت، انبتركيب ـ  
MgSO، انيدريت PbSO4) باريت 1 .H O4   SrCO3و سلستيت  2

  

CaSO، انيدريت BaCO3) باريت 3 . H O4   SrCO3و سلستيت  22

 CaSO4، و سلستيت BaSO4، انيدريت SrSO4) باريت 2
  

  SrSO4، و سلستيت CaSO4، انيدريت BaSO4) باريت 4

 75 باشد؟ هاي آذرين اسيدي و پگماتيتي ميهاي زير سنگشرايط تشكيل كدام سري از كانيـ  
  توپاز، فلورين، آپاتيت و كاسيتريت   ن،ي) تورمال2  دومن، انستاتيت، آپاتيت و فلورينو) تورمالين، اسپ1
 تريت يوتيل و كاس) مانيتيت، هماتيت، پيرولوزيت، ر4  ) كروميت، ايلمينيت، اليوين، اسفالريت و هماتيت 3

 76 شوند؟ ها، محسوب ميشيست، آندزيت به ترتيب جزء كدام دسته از سنگهاي كنگلومرا، گرانيت، آندالوزيتسنگـ  
  ) رسوبي تخريبي ـ آذرين بيروني ـ دگرگوني مجاورتي ـ آذرين دروني 2  اي ـ آذرين بيروني ) رسوبي شيميايي ـ آذرين دروني ـ دگرگوني ناحيه1
 ) رسوبي تخريبي ـ  آذرين دروني ـ دگرگوني مجاورتي ـ آذرين بيروني4  اي ـ آذرين دروني رسوبي شيميايي ـ آذرين بيروني ـ دگرگوني ناحيه )3

 77 باشد؟ در نتيجه دگرگوني مجاورتي كدام عبارت صحيح ميـ  
   شود.سنگ به شيست تبديل ميسنگ به كوارتزيت، سنگ آهك به مرمر، گل) ماسه1
  شود. سنگ به گنيس و خاك رس به مرمر تبديل ميسنگ به كوارتزيت، شيست به سنگ آهك، ماسه) ماسه2
  شود. سنگ به ميكاشيست تبديل ميسنگ به شيست، كوارتزيت به سنگ آهك، مرمر به خاك رس و ماسه) ماسه3
  شود. شيست متبلور تبديل مي) سنگ آهك به گنايس، خاك رس به شيست، ماسه سنگ به كوارتزيت و مرمر به 4

 78 باشد؟ يك ميباشد، نام سنگ كداممقدار فلدسپات قليايي و پلاژيوكلازها برابر ميو  %15مقدار كاني كوارتز در يك سنگ آذرين نفوذي حدود ـ  
  ) گرانوديوريت4  ) مونزوگرانيت  3  ) مونزونيت 2  ) سينوگرانيت  1

 79 شوند؟ ها، تشكيل ميسنگ به ترتيب كدام سنگهاي شيل و گلاي سنگدر اثر دگرگوني ناحيهـ  
  فيليت، شيست ) اسليت،2  اسليت) فيليت، شيست، 1
 ) اسليت، هورنفلس، شيست4  ) مرمر، هورنفلس، گنايس چشمي3
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 80 يك طبقه آندزيت آغشته به مس با مشخصاتـS W

SE

45
  هاي آهكي، موازي است؟ يك از لايهطبقه با كدام در معدني روباز رخنمون دارد. اين 25

1 (N W

SE

45
25  2 (S E

SE

45
25  3 (N

SE

135
25  4 (N

SE

225
25  

 81 شيب لايه چگونه است؟  زيري ماسه سنگي در شكل با توجه به موقعيت لايهـ  

  ) افقي 1
  قائم  )2
  دار به طرف شرق) شيب3
  دار به طرف غرب) شيب4

N
200

300

100

200
300

  
 82 در صفحه ـSOQR  زواياي زيردر بلوك دياگرام شكل و شوند؟ چه ناميده مي  

1 (   ميل ياPlunge ،Pitch  ياRake  
2 (   شيب واقعي صفحهSOQR ،Pitch  ياRake  
3 (   شيب ظاهري صفحهSOQR ،   شيب واقعي صفحهSOQR   
4 (  شيب واقعي صفحه SOQR،   جهت امتداد صفحهSOQR  

E

R

QX

S

O

L
P


 سطح افقي

 83 شناسي با هم دارند؟ شناسي و سنگكاني ،هايي از نظر زمانكانسارهاي بوكسيتي كارستي و لاتريتي چه تفاوتـ  
  سازي دگرساني مجاورتي است. ) كانسارهاي بوكسيت كارستي و بوكسيت لاتريتي حاصل از فرايند كاني1
بوكسـيت   يشوند و معمولاً داراي سن قديمي هستند. بوكسـيت لاتريتـي نـوع   هاي كارستي تشكيل مي) كانسارهاي بوكسيت لاتريتي در درون آهك2

  كارستي است. 
ولي كانسارهاي بوكسيت لاتريتي جوان معمولاً از هـوازدگي   ،شوند و معمولاً قديمي هستند) كانسارهاي بوكسيت كارستي در درون آهك تشكيل مي3

  شوند.يهاي غني از فلدسپات تشكيل مسنگ
هـاي  شوند. كانسارهاي لاتريتي بوكسيت بر اثـر هـوازدگي سـنگ   ها و تحت شرايط گرمابي تشكيل مي) كانسارهاي بوكسيت كارستي در درون آهك4

  آيد. غني از فلدسپات به دست مي

 84 وجود كاني اورتوز ـ بيوتيت در يك التراسيون معرف كدام التراسيون است؟ ـ  
  تيكلييالتراسيون پروپ) 4  التراسيون كلريتي  ) 3  التراسيون فيليك  ) 2  ك  التراسيون پتاسي) 1

 85 آيند؟ ها و خاستگاه به وجود ميكانسارهاي الماس در كدام سنگـ  
  هاي هوازدگي و فرسايشي و خاستگاه رسوبي دارد.) در توده2  هاي آذرين غني از سيليس و خاستگاه آذرين دارد.) در توده1
 هاي آذرين كيمبرليت و خاستگاه پوسته فوقاني دارند. ) در توده4  هاي آذرين غني از آهن و منيزيم و خاستگاه آذرين دارد.ه) در تود3

  آرائي، مكانيك سنگ)دروس تخصصي مشترك (كانه
  

 86 در فلوتاسيون اسفالريت ـ(ZnS)  هاي ها، يونگزنتاتباCu  وZn كنند؟ ها را ايفاء مييك از نقشبه ترتيب كدام  
  كننده اسفالريت كننده اسفالريت، فعال) بازداشت2  كننده اسفالريت بازداشت كننده اسفالريت،) فعال1
  ن اسفالريت وكننده اسفالريت، سولفوراسي) فعال4  كننده اسفالريت ) سولفوراسيون اسفالريت، فعال3

 87 صحيح است؟  ،معادلات داده شدهيك از درصد باشد، كدام 1، 61، 21يك مدار فرآوري به ترتيب معادل  اگر عيار بار اوليه، كنسانتره و باطله درـ  

1 (F C  2 (F C
1
3  3 (C F 3  4 (C F

1
3  

  


